The sun’s rays can be both beneficial and dangerous to
your body. The sun’s ultraviolet (UV) radiation is your best
natural source of vitamin D. Vitamin D is important for
healthy bones, muscles and teeth. However, the sun's UV
radiation can also cause sunburn, damage to your eyes
and skin cancer.

Whenever you are heading outside, it is important to be
sun-smart. Some things that you can do to make sure you
are protected from the sun’s rays include:

* wearing sun protective clothing
* putting on some sunscreen

* wearing a wide-brimmed hat

+ finding shade

« wearing sunglasses.

Once you are protected, you can enjoy
lots of fun outdoor activities including
sport, going to the beach, playing on a
playground or even just walking outside
to enjoy the outdoors.




Find the Main Idea — Questions

Name Date

Slip, Slop, Slap!

1. What is the main idea of this text?

2. What are three details that support the main idea?
Detail 1:

Detail 2:

Detail 3:

3. Carefully read the text.
Underline any words which are repeated, or seem important. Write them down.

4. Another good title for this text could be
a) The Weather.

b) The Sun and Our Health.
¢) How the Sun is Good for your Health.
d) Hot, Hot, Hot!

COMPREHENSION
-




13.4 boys weigh 165 kg
combined. If two of the
boys weigh 92 kg combined:
and another boy weighs
34 kg, what does the fourth
boy weigh?

14.The local soccer club is looking
to purchase new balls for their /
192 players. They need 5 balls

for every 20 players. How
many balls do they need?

15. The average distance from the Earth to
the Moon is 384 000 km. The length of a
marathon is 42 km. If you could run
from the Earth to the Moon, how many




Sometimes we round one number in the problem to make it easier to do in

our heads. Then we adjust our answer to compensate:
23 + 19 =142
23 + 20 {’— 1\) I rounded up by 1,
43 (:— 1 = 42 solsubtract 1.
Practise rounding:
a | 148 |—» b| 39 |—» c | 47 |—»
d | 109 |—» e| 96 |—» f | 199 |—»

Use the compensation method with these problems. Round the second number up
to the closest ten. Compensate by subtracting.

a 32+ 29 = b 55+ 38 =
32+ 30 55+ 40

¢ 66+ 19 = d 22+ 39 =
66 + l‘\ l'l 22 + I‘\ I'I

e

ine Subfraciion
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Now let’s try the compensation method with rounding the second number down.
Round these numbers down to the closest ten. Compensate by adding.

a 75 + 22 = b 45 + 41 =
75 + 20 ' 45 + 40 !
M M When we
RNy Rt round down
/ iz ' i= we compensate
Y RN by adding.
When we
round up we
compensate
by subtracting.
c 26 + 32 = d 66 + 53 =
26 + L 66 + v
[' \‘ 'l \\
'\\ ,:'= "\ l,‘:

Use the compensation method to solve this riddle.
What vehicle is spelled the same forwards as it is backwards?

Match the letter to the answer in the grid at the bottom.

a 125 + 48 b 115 + 41

I
prd
i
=

¢ 55 + 51 d 715 + 28

1
O

1
rm

156 173 106 743 106 173 156

Sdditien and |
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